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Introduction
These exemplar answers have been chosen from the 
summer 2017 examination series. 

OCR is open to a wide variety of approaches and all 
answers are considered on their merits. These exemplars, 
therefore, should not be seen as the only way to answer 
questions but do illustrate how the mark scheme has 
been applied. 

Please always refer to the specification (http://www.
ocr.org.uk/Images/170839-specification-accredited-a-
level-gce-economics-h460.pdf ) for full details of the 
assessment for this qualification. These exemplar answers 
should also be read in conjunction with the sample 
assessment materials and the June 2017 Examiners’ 
Report to Centres available on the OCR website http://
www.ocr.org.uk/qualifications/.

The question paper, mark scheme and any resource 
booklet(s) will be available on the OCR website from 
summer 2018. Until then, they are available on OCR 
Interchange (school exams officers will have a login for 
this). 

It is important to note that approaches to question 
setting and marking will remain consistent. At the same 
time OCR reviews all its qualifications annually and may 
make small adjustments to improve the performance of 
its assessments. We will let you know of any substantive 
changes.

http://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
http://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
http://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
http://www.ocr.org.uk/qualifications/
http://www.ocr.org.uk/qualifications/
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Question 31

31 Using the information in Extract 1, explain how the problem of scarcity can be applied to the 
housing market. [2]

Response 1 - 0 marks

Examiner commentary
The candidate in Response 1 made the common mistake of 
attempting to explain the problem of scarcity through supply 
and demand. The market mechanism of supply and demand is 
used to address the problem of scarcity rather than explain the 
problem itself – the answer needs to be given in terms of the 
relationship between wants (unlimited) and resources (limited). 
Response 2 does this as well as offering a clear application of 
both elements from Extract 1 – unlimited wants arising from 
population growth and low interest rates and limited resources 
arising from the rate of house building falling. 

Response 2 - 2 marks
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Question 32

32 Using the data from Fig. 1.1, compare what has happened to house prices and average earnings 
between 2000 and 2014. [2]

Response 1 - 2 marks

Examiner commentary
Two clear comparisons are offered in Response 1 – average 
earnings growth fluctuated less than house price growth and 
house price growth typically exceeded average earnings growth. 
Response 2 offers the same comparisons although benefit of 
the doubt is given on the first comparison – whilst there is an 
implicit recognition that average earnings growth was more 
stable with reference to the ‘rapid fluctuations’ in house price 
growth, the statement that ‘average earnings have stayed 
relatively the same’ is untrue as they were rising throughout the 
period. 

Response 2 - 2 marks
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Question 33

33 Evaluate, using an appropriate diagram, the extent to which the policy reforms outlined in Extract 1 
are likely to improve the affordability of housing in the UK. [15]

Response 1 - 6 marks
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Response 2 - 10 marks
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Response 3 - 14 marks



Exemplar Candidate Work

11

A Level Economics

© OCR 2020



Exemplar Candidate Work

12

A Level Economics

© OCR 2020

Response 4 - 15 marks
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Examiner commentary
Commentary: Candidates generally began their answers by 
considering the impact of an increase in stamp duty on second 
home purchases. In Response 1 the candidate offers Reasonable 
analysis of why an increase in stamp duty for buy to let investors 
will deter second home owners, decreasing house prices and 
therefore making houses more affordable. A diagram to illustrate 
this would have strengthened this analysis.

This diagram is offered in Response 2, where the candidate 
correctly shifts the demand curve to the left as a result of 
reduced demand from buy to let investors. However the link 
to improved affordability of housing is vague – greater credit 
would have been awarded for recognition that those purchasing 
houses for residential purposes are the people who benefit 
from increased affordability. The same is true of Response 3, 
which uses the alternative policy of the removal of tax relief on 
mortgage interest payments to argue that demand for second 
homes will fall. 

In Response 1 the candidate goes on to offer brief analysis of 
the other two policies which is largely lifted from the extract 
– that the Lifetime ISA scheme will incentivise saving (an 
argument which could have been strengthened if it was linked 
to individuals developing funds for a deposit, a key barrier to 
house purchasing at the moment) and that the Help to Buy 
scheme will make it easier for first time buyers to get on the 
ladder. The analysis does not take the answer into ‘Good’ analysis 
because ultimately none of the policies have been explained 
using a diagram – a key element of the question. In Response 3 
there is a much clearer explanation of why incentivising saving 
is so essential, with an explanation that individuals are myopic. 
Because this analysis is offered in addition to the diagram used 

to support the first policy analysed the answer is awarded Strong 
analysis. 

These scripts illustrate a number of evaluative routes taken by 
candidates:

• The stamp duty increase may not deter second home 
owners. This is made on a Limited level in Response 1 where 
the candidate says some buyers are ‘financially not phased 
by much’. 

• If the population continues to rise then demand for housing 
may carry on rising even if the demand for second homes 
falls. This is made on a Limited level in Response 2.

• The Lifetime ISA is only effective if individuals can afford to 
save (Response 3). 

• Disincentivising buy to let purchases will push up the 
price of rented accommodation, which will ultimately 
make it harder for individuals to save for a deposit as most 
individuals who buy a house have first of all rented. This 
is Good evaluation in Response 4 as it is one of the few 
scripts that understands the linked nature of the rental and 
purchase market.  

• The Lifetime ISA and Help to Buy Scheme will increase 
the demand for housing, pushing house prices up and 
worsening affordability. In Response 4 this is supported by 
an accurate diagram. This means that across the answer 
multiple policies have been analysed, one with an accurate 
diagram, with well developed criticisms offered. This is 
enough for the answer to be awarded full marks.
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A popular judgement offered is that the policies are only likely 
to be effective if carried out alongside policies to improve the 
supply side of the market. Response 2 does this but is held 
back by there being a lack of preceding high quality evaluation, 
meaning this judgement only takes the evaluation up to 
Reasonable.  

Some candidates wasted time by considering elements of 
market failure that are more relevant for Question 35 than 
Question 33. An example is in Response 2, where the first page 
of the response is not relevant to the question. 

Examiner commentary continued
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Question 34

34 Using the data from Fig. 2.1, calculate the price elasticity of supply of new housing in 2014. 
  [2]

Response 1 - 0 marks

Response 2 - 2 marks

Examiner commentary
The candidate in Response 1 offers the correct formula for 
price elasticity of supply but both marks were on offer for the 
calculation, which was not performed accurately here. This is 
done correctly in Response 2, where correct calculations of the 
percentage change in quantity supplied and the percentage 
change in the price level have resulted in the right answer being 
arrived at.
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Question 35

35 Evaluate, whether there is evidence of market failure in the market for house building. 
  [8]

Response 1 - 0 marks
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Response 2 - 7 marks
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Response 3 - 7 marks
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Examiner commentary
No marks are awarded to Response 1 because the answer 
does not go beyond lifting material from the extract. 
There is reference to market failure arising from developers 
deliberately restricting the supply of housing but no link to 
why this represents market failure (for example, monopoly 
firms exploiting their market power or oligopolists colluding). 
This is also the problem with the reference to the long term 
environmental benefits which could be derived from house 
building – had the candidate linked to the theory of positive 
externalities of production marks could have been awarded. 

This link to the theory of market failure is clearly present in 
Response 2, where a clear explanation of why house building 
creates positive externalities of production, applied to increased 
geographical mobility of labour, is offered. For the evaluation 
to be Strong further development – such as a clear explanation 
that third party benefits are derived (such as taxpayers having 
to fund less unemployment benefits) or a link to allocative 
inefficiency – would be needed. This additional development 
is offered in Response 3, where the greater depth including the 
link to allocative inefficiency takes the answer to Strong analysis. 
Response 2 then offers the reverse argument to suggest that the 
market failure may in fact be caused by negative externalities 
of production in evaluation. A judgement considering which 
side of the argument is stronger would help take the answer to 
Strong evaluation. 
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Question 36

36 Using the information in Extract 2, explain the impact on the government’s budget position in the 
short run and the long run of the HS3 rail project. [4]

Response 1 - 0 marks



Exemplar Candidate Work

23

A Level Economics

© OCR 2020

Response 2 - 4 marks

Examiner commentary
Response 1 shows a lack of understanding of what is meant by 
the government budget, with no reference to tax revenue or 
government expenditure. The answer instead considers broader 
economic impacts of the HS3 rail project, which are not relevant 
to the question. 

In Response 2 there is a clear explanation that the increased 
government expenditure will lead to a budget deficit in the 
short run, followed by an explanation that in the long run a 
decrease in unemployment caused by the HS3 rail project will 
result in a budget surplus. 
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Question 37

37 Economic theory would suggest there is a positive correlation between economic growth and the 
quality of housing. Explain whether the data in Fig. 3.1 supports this view. [2]

Response 1 - 0 marks

Response 2 - 2 marks

Examiner commentary
The answer in Response 1 is unclear and would benefit from 
reference to the data in Figure 3.1. Although the words ‘disagree 
– e.g. Peru’ are written on the script these cannot be credited as 
it is not clear what the candidate means by this in the context 
of the rest of the answer, where there is a lack of focus on the 
correlation between economic growth and the quality of 
housing and instead a more general consideration of what 
might have happened to the quality of housing (it is not clear 
how this is/isn’t linked to economic growth).

The answer in Response 2 is much clearer as it immediately 
reaches a position – that the theory is not supported – and 
supports this with evidence from Fig 3.1, comparing Peru and 
Mexico. 
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Question 38

38 Using the information in Extract 3, evaluate the relationship between economic growth and 
economic development. [15]

Response 1 - 4 marks
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Response 2 - 11 marks



Exemplar Candidate Work

27

A Level Economics

© OCR 2020



Exemplar Candidate Work

28

A Level Economics

© OCR 2020

Response 3 - 14 marks



Exemplar Candidate Work

29

A Level Economics

© OCR 2020



Exemplar Candidate Work

30

A Level Economics

© OCR 2020



Exemplar Candidate Work

31

A Level Economics

© OCR 2020

Examiner commentary
The candidate in Response 1 uses evidence from Extract 3 
to demonstrate there is no relationship between economic 
growth and economic development, pointing to the rising 
homelessness in Peru despite economic growth occurring. 
This would take the answer beyond Limited if there was some 
consideration as to why economic growth may worsen living 
standards in this way (for example, as a result of rural-urban 
migration). This consideration is given in Response 2, where 
the candidate suggests rising inequality caused by growth may 
explain a negative relationship between economic growth and 
development such as that seen in Peru. Response 3, on the 
other hand, argues the inverse relationship may have occurred 
because of corruption. 

In Response 1 the candidate further argues that the link 
between economic growth and development is only effective 
if there is a strong system of governance. The answer is missing 
any real consideration of why there might be a relationship 
between economic growth and economic development – a two 
sided answer is essential for high marks in this question. This is 
present in Response 2, where the candidate recognises that GDP 
per capita is a component of HDI and then provides evidence 

from the extract (quoting Chile) to support the relationship 
between economic growth and economic development. The 
chain of analysis is best developed in Response 3, where the 
candidate links rising growth to rising real disposable income to 
rising material standards of living to HDI. 

Many candidates wasted valuable time when answering this 
question explaining in great depth how to measure economic 
growth and economic development when the question requires 
an exploration of the relationship between the two variables. 
This is the case for the first part of the answer in Response 2 and 
Response 3.

In order for answers to secure top marks a judgement is needed. 
This is attempted in Response 2 although only in the most 
basic sense, where the candidate says there is a weak positive 
relationship between growth and development without 
explaining why they believe this relationship is weak. It is the lack 
of a judgement that prevents Response 3 securing full marks. 
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